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1. Ifi® = gg i '
8% , what is the equivalent {(12) e >‘13 \3

.9%. :\(_n.\ .___\L[(\ 4 '\‘v’\

(b) 1.9 %

(©) 5.9%

2. Suppose the accumulation function for your account is a(t) = 3t + 1. If you
fund worth at time 87 | '

invest $ 2000 at time 1 in this fund how much your ‘
%cz)

(a) 320 \
i 2{)601 —a’c’\)

2,500

(c) 50,000

Based on 4% annual interest rate, for a 10-year annuity with level payments
of 20 each, and with the first payment occurring 6 years from now, then the
© .

preseht value equals:
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4. The present value of a series of forever payments of 10 at the beginning of every 8-
ears, with i = 3%, is:
y | Y, is: ‘ \D O\"\Q {\5
(@) 10+1.03

: \o
0.03

# %

. \) [

@ 10+(1.03)8 (gc
(1.03)8-1 ' :

10%(1-(1.03)71°)#(1.03)®
0.03

(c)

I

nnual
5 Aloan for 20,000 must be repaid by 5 year- -end payments with interestatana

nt is: )
effective rate of interest 10%. Then the annual payr?rf) l \/ 3 W

0-\0
(a)5,500 ‘ 20 ood o (} Q\/\
(b)5,456.12

@)5,275.95
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PART B: SOLVE 5 QUESTIONS OF THE FOLLOWING: EACH
QUESTION CREDITS 4 MARKS:

. | T oun
1. John invested $12000 on January 1, 1995. Assumin s
- at 5> % per year, \K\Z,;\M.

%ggmpound interest

s

(A) Find the following:

i-  The accumulated value on January 1, 2002.

ii-  The amount of money needed to invest 10 years in the past to
accumulating $10,000. |

(B) If interest is convertible semi-annually, find the rate of discount
convertible semi-annually. '
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a) Fi .
¢ )' Indn.  (b) What s the account balance after n years
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lue for arithmetic decreasing annuities. 2

=¥€ar annuity i i '
Uity immediate makes quarterly payments of 100 in year 1,

- inyear2 g i
e ; ecre‘asmg t0 10 per quarter in year 10. Find the present value of
ty at an interest rate of 6% convertible monthly.
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Thé st ol pany has an Ojbligation to pay medical costs for a client.
s ~ claim costs 5,000 and it starts one year from today. The cost E
Teases in such a way that each payment ig 7%ii

If clai greater than the previous cost.
i i pas‘/r'nents made at annual interest rate(5% hnd the client is expected to
‘Ive an additional 20 years, find the present value of this- obligation. o= Y.
3,00 © 6,0::1&.*0@53 = F7.
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5. Find the pre At ‘
i tI})le :Elt vtzjllue at time 0 of an annuity such that the payments are
theréafter : oI each year, Payments start at $10, each payment
1 [ Increases by $10 until reaching $80, and they remain at that
evel until 25 payments in to

interest is 4%, tal are made. The annual effective rate of
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Calculate k.
5, p00 :?\/ ‘tg\ s
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